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Mapwork
Questions 1-12 refer to 1: 50 000 map of Kildonan, 7Zimbabwe
' Which feature is located at grid point 23870080784007
A A reservoir

B A hut

C A dip tank

D Adam

2 The altitude of the staff quarters in grid 2500008066000 is
A 1460m.
B 1440m.
C 1420m.
D 1400m.

3 What is the length of the prospecting trench in grid reference 24600080650007?
A 1,5km
B 1.,2km
C 1,0km
D 0,9km

4 What is the general direction ot flow of Murembwe r ver in grid reference ;
23900080680007 }
A south west 'i
B north west .
C north east

D south east
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S The bea.ring 'of the spot height .1429 in grid square 2460008076000 from spot height
1284 in grid square 2440008077000 1s

A 330°.
B 230°.
., 180"

D36 .

6 What is the dominant drainage pattern in the area shown?
2
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A Trellis
B Rectangular
C Radial

p Centripetal
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7 The road from grid reference point 2500008072200, northeastwards, to 2507008 4 .
follows a |

A watershed.
B  hilly area.

C plateau.
D ridge.

8 Which settlement pattern is dominant in grid square 24800080760007

A Radial
B Nucleated

C Linear

D Dispersed

9 The main reason for the existence of a railway line on the map is to transport

A minerals.
beef cattle.

B
C forest produce.
D people.
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The main activity of settlement X is
A residential.
B fishing.
C cattle ranching.
D mining.

o - rf.-"f
11 What is the approximate area covered by open grassland in grir:.l_;___2460d_398_0?’iﬁ9ﬂ;’? o
A 05km _"_L_ i#
. { : IFI:I f\- _“,f’f
7 f A ¥ i L
C 2km .y =
D 4 km' — { . ) >
¥ J
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Cultivation in the shaded area has been influenced by

A presence of rich soils.
B access to means of communication.
C gently sloping land.

D presence of a pool.
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1S Which climatic region experiences hot-wet summers?

A Desert
B Equatorial
C Mediterranean

D Savanna

16  Calculate the mean daily temperature given that:
Maximum temperature is 28°C
[ L ﬂ
Minimum temperature is 12 C

A 40°C
B 20°C
C 16°C
D 10°C

2) .I.I. '|.L

: .g;u;.

17 Theo ' te layer of the earth is known as
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Prevailing wind

A Exfoliation dome
B Yardang

C Rock pedestal

D Zeugen

Victims of hazardous mass movements can be assisted by

A awareness campaigns-

B building reinforced structures.

C early warning systems. LI

D evacuation.

A river that gains pOwer t
A rejuvenation.
B meandering.
C river capture.
D

braiding.

o erode in the lower course experiences
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21 Soil acidification can be reduced by

A addition of lime
B imigation.
C application of fertilizer.

D  crop rotation.

22 Which ecosystem is shown in the photograph below?

A Desert
B Equatorial
C Mediterranean

D Savanna

23 Remote Sensing is

A getting information from a far distance using electromagnetic waves.

B the spectrum of all known wavelengths of light.

C electromagnetic spectrum.

D the visible part of the electromagnetic spectrum.







C an emigrant,

D atourist

l'he nisk of occupational accidents can be reduced by
\ use of unskilled labour
B providing health and safety training.

C  use of outdated machinery.
D increasing working hours.

In which year did fertilizer production reach 20000 tonnes?
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Intensive beef farming

The Masai people of East Africa practise
A mixed commercial farming.

estate farming.

nomadic farming.

commercial farming.
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Which part of the C entral Business District (CBD) would you find a jewellery shop?
A transition zone

B commercial

C light manufacturing:

D

retailing

The average number of children a woman [15-49 years] has in her lifetime is called
A birth rate. . .
B fertility rate.
C growth rate

D mortality rate.

Which is the suitable mode of transport for movin g flowers from Zimbabwe to the
Netherlands?

A Water
B Road
C Rail
D Air

£
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The time at 45 east is 1500 hours. What is the Jocal timg at 15 west?

7 & T
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A 1100 hours
v B 1200 hours
C 1300 hours

D 1400 hours




